
1 dx"Gofn df=lj= ehgL /f=jf=a}s ehgL 415000012101 402014.00

3 >L s[i)fWjh rGb df=la= v}/f,u*rf}/f /f=jf=a}s wgu(L 417000228101 37990.00

4 >L dx]Gb| df= la= kluofk;f/ /f=jf=a}s wgu(L 417000228501 75980.00

7 ;/:jtL df=lj= gjnk"/ /f=jf=a}s ehgL 415000010801 244679.00

8 sd{]Zj/ df=lj= s'^L /f=jf=a}s wgu(L 417000426801 230540.00

11 /fli^«o df=lj= v}nf* /f=jf=a}s ehgL 415000028301 236720.00

12 b'uf{ df=lj= s';'d#f^ /f=jf=a}s wgu(L 417000443501 37990.00

hDdf 1265913.00

tof/ ug]{ k|dfl)ft ug]{

==================== ====================

s}lkmot

        cf=j= 2076÷2077 sf] jflif{s l:js[t sfo{j|md - j=p=lz=g+=35000015 j|mLofsnfk g+= 1=1=3=4=_

cg";f/ dfWolds txsf] lzIfsx?sf] t];|f] rf}dfl;s -r}q dlxgfsf] dfq_ tna eQf ?= 1265913÷ afx| nfv k};&\&L xhf/

gf} ;o t]x|f ?k}of dfq tkl;nsf ljBfnox?sf] vftfdf lzif{s pNn]v u/L hDdf u/L lbg x"g cg"/f]w % .

lj|mofsnfk g+= 1=1=3=4

l;=g+ laWffnosf] gfd &]ufgf a}ssf] gfd vftf g+ /sd

ehgL, s}nfnL

>L /fli^«o jfl)fHo a}+s

ehgL gu/kflsf

 gu/ sfo{kflnsfsf] sfo{no

ehgL, s}nfnL

;"b'/klZrd k|b]z, g]kfn

ljifo M /sd hDdf u/L lbg] af/] .


